Golden The Free Log								
Select File > Make a Copy to use our Fleet Fuel Log Spreadsheet.	TOTAL FUEL SPEND	\$5,989.40	Total Gallons Purchased	Fuel Card	\$5,606.98	US Diesel Avg.	Total Saved	
	Average MPG	6.79	1589.1	Average MPG		\$4.02	\$382.42	
	Average CPM	\$0.56		Average CPM		https://www.eia.gov		
	Average CPG	\$3.77		Average CPG	\$3.53			
or best use, don't edit the formulas and information in Column I. This data will automatically update.	•							

Vehicle ID		Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount
	155	492,244		3/4/2024		\$390.96	100.3	\$3.90	Full	Maverick	Diesel	Las Vegas	NV		\$390.61	\$0.35
	155	492,994		3/5/2024		\$523.28	154.0	\$3.40	Full	Maverick	Diesel	Aurora	CO	MF	\$522.87	\$0.41
	155	493,822		3/7/2024		\$364.57	107.2	\$3.40	Full	Toot N Totum	Diesel	Lubbock	ТХ		\$362.64	\$1.93
	155	494,575		3/8/2024		\$398.68	109.0	\$3.66	Full	Petro	Diesel	Jackson	MS		\$379.61	\$19.07
	155	495,378		3/11/2024		\$486.37	121.6	\$4.00	Full	TA	Diesel	Duncan	SC		\$426.21	\$60.16
	155	496,209		3/12/2024		\$444.26	115.7	\$3.84	Full	TA	Diesel	Kilgore	ТХ		\$387.84	\$56.42
	155	497,009		3/19/2024		\$494.60	143.4	\$3.45	Full	Allsups	Diesel	Claude	ТХ		\$492.30	\$2.30
	155	497,551		3/20/2024		\$99.32	27.6	\$3.60	Full	24/7	Diesel	Maple Hill	KS		\$99.32	\$0.00
	155	497,979		3/21/2024		\$318.33	75.8	\$4.20	Full	Pilot	Diesel	Effingham	IL	RTS	\$309.23	\$9.10
	155	498,455		3/21/2024		\$427.75	117.5	\$3.64	Full	Sheetz	Diesel	N Jackson	OH	RTS	\$418.86	\$8.89
	155	499,508		3/23/2024		\$562.81	139.3	\$4.04	Full	TA	Diesel	Greenville	TN		\$505.35	\$57.46
	155	500,689		3/26/2024		\$572.44	153.1	\$3.74	Full	TA	Diesel	Nacogdoches	TX		\$530.60	\$41.84
	155	501,637		3/28/2024		\$548.13	133.7	\$4.10	Full	Speedway	Diesel	Beloit	WI	MF	\$456.35	\$91.78
	155	502,352		3/29/2024		\$357.90	90.9	\$3.94	Full	Pilot	Diesel	Austintown	OH	RTS	\$325.19	\$32.71
	155								Full		Diesel					\$0.00
	155								Full		Diesel					\$0.00
	155								Full		Diesel					\$0.00
	155								Full		Diesel					\$0.00

uel Log ect File > Make a Copy :	to upo our Floot I	uel Log Spreadebast			TOTAL FUE		\$5,989.40		Total Gallons Purchased	Eucl Cord	\$5,606.98		US Diesel Avg.	Total Saved	
ect File > Make a Copy	to use our Freet F	uer Log Spreadsneet.			Average M		\$5,989.40 6.79		1589.1	Average MPG			\$4.02	\$382.42	
					Average Cl		\$0.56		1508.1	Average CPM			https://www.eia.gov	ψ 3 02. 4 2	
					Average Cl	PG	\$3.77			Average CPG	\$3.53				
best use, don't edit the for															
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amoun

uel Log ect File > Make a Copy :	to upo our Floot I	uel Log Spreadebast			TOTAL FUE		\$5,989.40		Total Gallons Purchased	Eucl Cord	\$5,606.98		US Diesel Avg.	Total Saved	
ect File > Make a Copy	to use our Freet F	uer Log Spreadsneet.			Average M		\$5,989.40 6.79		1589.1	Average MPG			\$4.02	\$382.42	
					Average Cl		\$0.56		1508.1	Average CPM			https://www.eia.gov	ψ 3 02. 4 2	
					Average Cl	PG	\$3.77			Average CPG	\$3.53				
best use, don't edit the for															
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amoun

uel Log ect File > Make a Copy :	to upp our Floot (ual Lag Spraadabaat			TOTAL FUE		\$5,989.40		Total Gallons Purchased	Eucl Cord	\$5,606.98		US Diesel Avg.	Total Saved	
ect File > Make a Copy	to use our Freet F	uer Log Spreadsneet.			Average M		\$5,989.40 6.79		1589.1	Average MPG			\$4.02	\$382.42	
					Average Cl		\$0.56		1508.1	Average CPM			https://www.eia.gov	ψ 3 02. 4 2	
					Average Cl	PG	\$3.77			Average CPG	\$3.53				
best use, don't edit the for															
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amoun

uel Log ect File > Make a Copy :	to upo our Floot I	uel Log Spreadebast			TOTAL FUE		\$5,989.40		Total Gallons Purchased	Eucl Cord	\$5,606.98		US Diesel Avg.	Total Saved	
ect File > Make a Copy	to use our Freet F	uer Log Spreadsneet.			Average M		\$5,989.40 6.79		1589.1	Average MPG			\$4.02	\$382.42	
					Average Cl		\$0.56		1508.1	Average CPM			https://www.eia.gov	ψ 3 02. 4 2	
					Average Cl	PG	\$3.77			Average CPG	\$3.53				
best use, don't edit the for															
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amoun

uel Log	una aur Flaat F	ual Lag Spraadabaat			TOTAL FUE		\$5,989.40		Total Gallons Purchased	Eucl Cord	\$5,606.98		US Diesel Avg.	Total Saved	
ect File > Make a Copy to	use our Fieel F	uer Log Spreadsneet.			Average M		\$5,989.40 6.79		1589.1	Average MPG			\$4.02	\$382.42	
					Average C		\$0.56		1303.1	Average CPM			https://www.eia.gov	ψ 3 02. 4 2	
					Average C	PG	\$3.77			Average CPG	\$3.53				
best use, don't edit the form															
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amoun

uel Log	una aur Flaat F	ual Lag Spraadabaat			TOTAL FUE		\$5,989.40		Total Gallons Purchased	Eucl Cord	\$5,606.98		US Diesel Avg.	Total Saved	
ect File > Make a Copy to	use our Fieel F	uer Log Spreadsneet.			Average M		\$5,989.40 6.79		1589.1	Average MPG			\$4.02	\$382.42	
					Average C		\$0.56		1303.1	Average CPM			https://www.eia.gov	ψ 3 02. 4 2	
					Average C	PG	\$3.77			Average CPG	\$3.53				
best use, don't edit the form															
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amoun

uel Log ect File > Make a Copy :	to upo our Floot I	ual Lag Enradabaat			TOTAL FUE		\$5,989.40		Total Gallons Purchased	Eucl Cord	\$5,606.98		US Diesel Avg.	Total Saved	
ect File > Make a Copy	to use our Freet F	uer Log Spreadsneet.			Average M		\$5,989.40 6.79		1589.1	Average MPG			\$4.02	\$382.42	
					Average C		\$0.56		1508.1	Average CPM			https://www.eia.gov	ψ 3 02. 4 2	
					Average C	PG	\$3.77			Average CPG	\$3.53				
best use, don't edit the for															
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amoun

TRUCKER															
uel Log ect File > Make a Copy t	ia uaa aur Elaat E	ual Lag Spraadabaat			TOTAL FUE		\$5,989.40		Total Gallons Purchased	Eucl Cord	\$5,606.98		US Diesel Avg.	Total Saved	
ect File > Make a Copy t	o use our rieel r	uer Log Spreadsneet.			Average M		\$5,989.40 6.79		1589.1	Average MPG			\$4.02	\$382.42	
					Average C		\$0.56		1505.1	Average CPM			https://www.eia.gov	ψ 3 02. 4 2	
					Average C	PG	\$3.77			Average CPG	\$3.53				
best use, don't edit the for															
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amoun

uel Log ect File > Make a Copy :							\$5,989.40		Total Callana Durahasad	Evel Card	\$5,606.98			Total Caused	
ect File > Make a Copy	to use our Fleet F	uei Log Spreadsneet.			TOTAL FUE Average M		\$5,989.40 6.79		Total Gallons Purchased 1589.1	Average MPG			US Diesel Avg. \$4.02	Total Saved \$382.42	
					Average C		\$0.56		1565.1	Average CPM			https://www.eia.gov	\$302.42	
					Average C	PG	\$3.77			Average CPG	\$3.53		<u>Intpentitiona.got</u>		
best use, don't edit the for	mulas and informa		a will automatically up	odate.											
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amour

uel Log	una aur Flaat F	ual Lag Spraadabaat			TOTAL FUE		\$5,989.40		Total Gallons Purchased	Fuel Cord	\$5,606.98		US Diesel Avg.	Total Saved	
ect File > Make a Copy to	use our Fieel F	uer Log Spreadsneet.			Average M		\$5,989.40 6.79		1589.1	Average MPG			\$4.02	\$382.42	
					Average C		\$0.56		1303.1	Average CPM			https://www.eia.gov	ψ 3 02. 4 2	
					Average C	PG	\$3.77			Average CPG	\$3.53				
best use, don't edit the form															
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amoun

uel Log ect File > Make a Copy							\$5,989.40		Total Callera Durahasad	Fuel Card	\$5,606.98			Total Caused	
ect File > Make a Copy	to use our Fleet F	uei Log Spreadsneet.			TOTAL FUE Average M		\$5,989.40 6.79		Total Gallons Purchased 1589.1	Average MPG			US Diesel Avg. \$4.02	Total Saved \$382.42	
					Average Cl		\$0.56		1569.1	Average CPM			https://www.eia.gov	\$302.42	
					Average Cl	PG	\$3.77			Average CPG	\$3.53		<u>Intpentitiona.got</u>		
best use, don't edit the for			a will automatically up	odate.											
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amour

Golden															
uel Log															
elect File > Make a Copy t	to use our Fleet F	uel Log Spreadsheet.			TOTAL FUE		\$5,989.40		Total Gallons Purchased	Fuel Card	\$5,606.98		US Diesel Avg.	Total Saved	
					Average M	PG	6.79		1589.1	Average MPG			\$4.02	\$382.42	
					Average C Average C		\$0.56 \$3.77			Average CPM Average CPG	\$3.53		https://www.eia.gov		
or best use, don't edit the for	mulas and informa	tion in Column I. This dat	a will automatically up	pdate.	/ Holdgo o		40 1			/weilage of o	\$0.00				
hicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amour

Gölden															
Fuel Log															
Select File > Make a Cop	∕ to use our Fleet F	uel Log Spreadsheet.			TOTAL FUE		\$5,989.40		Total Gallons Purchased		\$5,606.98		US Diesel Avg.	Total Saved	
					Average M Average C	PG PM	6.79 \$0.56		1589.1	Average MPG Average CPM			\$4.02 https://www.eia.gov	\$382.42	
					Average C	PG	\$3.77			Average CPG	\$3.53				
For best use, don't edit the f															
/ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount

Golden															
Fuel Log															
elect File > Make a Co	oy to use our Fleet F	uel Log Spreadsheet.			TOTAL FUE		\$5,989.40		Total Gallons Purchased		\$5,606.98		US Diesel Avg.	Total Saved	
					Average M Average C	IPG PM	6.79 \$0.56		1589.1	Average MPG Average CPM			\$4.02 https://www.eia.gov	\$382.42	
For best use, don't edit the	Constant of the Constant				Average C	PG	\$3.77			Average CPG	\$3.53				
					0	0.1	000 141	F 111 J T		- 1-	0.1				
/ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	Спу	State	Fuel Card Type	Fuel Card Cost	Discount Amount

Golden															
Fuel Log															
elect File > Make a Cop	by to use our Fleet F	uel Log Spreadsheet.			TOTAL FUE		\$5,989.40		Total Gallons Purchased		\$5,606.98		US Diesel Avg.	Total Saved	
					Average M Average C	IPG PM	6.79 \$0.56		1589.1	Average MPG Average CPM			\$4.02 https://www.eia.gov	\$382.42	
For best use, don't edit the	6	the is Arbert This de			Average C	PG	\$3.77			Average CPG	\$3.53				
					0	0.1	000 141	F ¹¹ J T		- 1-	0.1				
/ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	Спу	State	Fuel Card Type	Fuel Card Cost	Discount Amount

Golden															
Fuel Log															
elect File > Make a Co	oy to use our Fleet F	uel Log Spreadsheet.			TOTAL FUE		\$5,989.40		Total Gallons Purchased		\$5,606.98		US Diesel Avg.	Total Saved	
					Average M Average C	IPG PM	6.79 \$0.56		1589.1	Average MPG Average CPM			\$4.02 https://www.eia.gov	\$382.42	
For best use, don't edit the	Constant of the Constant				Average C	PG	\$3.77			Average CPG	\$3.53				
					0	0.1	000 141	F 111 J T		- 1-	0.1				
/ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	Спу	State	Fuel Card Type	Fuel Card Cost	Discount Amount

Golden															
Fuel Log															
elect File > Make a Cop	y to use our Fleet F	uel Log Spreadsheet.			TOTAL FUE		\$5,989.40		Total Gallons Purchased		\$5,606.98		US Diesel Avg.	Total Saved	
					Average M Average C	PG PM	6.79 \$0.56		1589.1	Average MPG Average CPM			\$4.02 https://www.eia.gov	\$382.42	
					Average C	PG	\$3.77			Average CPM Average CPG	\$3.53		https://www.eia.gov		
or best use, don't edit the f	ormulas and informa	tion in Column I. This dat	ta will automatically up	odate.											
ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount

Golden															
Fuel Log															
Select File > Make a Cop	y to use our Fleet F	uel Log Spreadsheet.			TOTAL FUE		\$5,989.40		Total Gallons Purchased		\$5,606.98		US Diesel Avg.	Total Saved	
					Average M Average C	PG PM	6.79 \$0.56		1589.1	Average MPG Average CPM			\$4.02 https://www.eia.gov	\$382.42	
					Average C	PG	\$3.77			Average CPG	\$3.53				
For best use, don't edit the f															
/ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount

Golden															
Fuel Log															
elect File > Make a Cop	y to use our Fleet F	uel Log Spreadsheet.			TOTAL FUE		\$5,989.40		Total Gallons Purchased		\$5,606.98		US Diesel Avg.	Total Saved	
					Average M Average C	PG PM	6.79 \$0.56		1589.1	Average MPG Average CPM			\$4.02 https://www.eia.gov	\$382.42	
					Average C	PG	\$3.77			Average CPM Average CPG	\$3.53		https://www.eia.gov		
or best use, don't edit the f	ormulas and informa	tion in Column I. This dat	ta will automatically up	odate.											
ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount

Gölden															
Fuel Log															
Select File > Make a Cop	∕ to use our Fleet F	uel Log Spreadsheet.			TOTAL FUE		\$5,989.40		Total Gallons Purchased		\$5,606.98		US Diesel Avg.	Total Saved	
					Average M Average C	PG PM	6.79 \$0.56		1589.1	Average MPG Average CPM			\$4.02 https://www.eia.gov	\$382.42	
					Average C	PG	\$3.77			Average CPG	\$3.53				
For best use, don't edit the f															
/ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amount

Golden															
Fuel Log															
elect File > Make a Co	oy to use our Fleet F	uel Log Spreadsheet.			TOTAL FUE		\$5,989.40		Total Gallons Purchased		\$5,606.98		US Diesel Avg.	Total Saved	
					Average M Average C	IPG PM	6.79 \$0.56		1589.1	Average MPG Average CPM			\$4.02 https://www.eia.gov	\$382.42	
For best use, don't edit the	Constant of the Constant				Average C	PG	\$3.77			Average CPG	\$3.53				
					0	0.1	000 141	F 11 J T		- 1-	0.1				
/ehicle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	Спу	State	Fuel Card Type	Fuel Card Cost	Discount Amount

uel Log	/ to use our Fleet I	Fuel Log Spreadsheet.			TOTAL FU	EL SPEND	\$5,989.40		Total Gallons Purchased	Fuel Card	\$5,606.98		US Diesel Avg.	Total Saved	
					Average N		6.79		1589.1	Average MPG			\$4.02	\$382.42	
					Average C	PM	\$0.56			Average CPM			https://www.eia.gov		-
					Average C	PG	\$3.77			Average CPG	\$3.53				
est use, don't edit the f	ormulas and informa	tion in Column I. This da	ta will automatically	update.											
icle ID	Odometer	Operator	Date	Time	Cost	Gallons	CPG [1]	Filled To	Vendor	Fuel Type	City	State	Fuel Card Type	Fuel Card Cost	Discount Amoun
							1	000 fi	uel entries?	7					

[1] Cost per Unit – Automatically calculated from previous data.

Cells are automatically shaded to show outliers (10% above and below fleet average).